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nsiructions: Please show all of your work as carticl credit will ba given where appropriate,
ithere may be no credii given for problems where there is no wark shown, All answers
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part 1: Do all of the following 7 probiems.

i (15 points) Find the ared of the region bounded by the curves y=x and
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(10 poinfs each) Evaluat e*h$ = ink
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{Note: Thisis #4 conlinued!)

r Zsnlt-1) + ¢

(d} ‘ Sticos( —1rdr = e T

)

o {{’_ {
U=t
A= Gl i+ =) J = cos (ul

t?j;&i, =S¢ ¢ |
A StAE = S )

PR
¥
{

- “E?" s (1) +(




5. {10 points each) Find the indicated derivative of the given funchions.
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[Note: Thisis #5 continued!)
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(¢} Find all local minimum and maximum points. {x and y values)
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7. {10 points each] Setup lyou do NOT have io evaluate] fne integrals for the volume of
n ne solid generated by revolving ihe region bounded by
‘é/ =S, x=0 cand  y=0
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Part 2: {20 points each] Choose 2 out of the next 4 guestions fo do. Indicate ciearly

which problems vou want gradedi!

Al. {Grade: Y or N} Findlhe arc length of the curve given by
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81, (Grade: Y or N} the natural ienaih of a spring is 2 melers and if it iakes o force of
12 newtons 1o keep it extended to 6 meters, find the work done in siretching the spring from
its naturad length to alength of 3 meters.
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C1. {Grade: Y or N} Find ihe surface area generaied by revolving _;-:fé\ﬁ; aboul

the x-axis for D=y =<4 .
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D1. {Grade: Y or Nj Find the centroid of the region bounded by ”1-:12—.‘\-“ and
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par 3. (20 points each) Choose 5 out of the nexi 8 guestions fo do._Indicate clearly
which problems you want gradedil!

AZ. [Grade: Y or NJ Astudent is using @ straw to drink from

axis is vertical, at arate of 3 cu
centimeters and the radius of its opening is 3 centimeters, how fast is the leve
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B2, (Grade: Y or N} Solve The foliowing differential equation
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C2. (Grade: ¥ or NJ
chewing
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Use differenticls to approximate ihe increase in volume of g
a gum bubble when its radius increases from 200 mm 1o 203 mm.
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D2. |Grade: Y or N} Afarmer wishes 10 fence off four identical adicining rectar ;gb ar
pens using exactly 400 feet of fence. Whal should the width and length of each pen e 5o

that the area is the grealeste
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£2. {Grade: Y or N} Forall isoscetes riangles with congruent sides of length 2 inches, find
the lengih of the base of the riangle with maximum ared.

20T n

Answer E21




£, (Grade: Y or N} Use the definilion ofthe derivative to find [/ "lx]) for
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G2, {Grade: Y or N} Use the defintion of the definite integral, that is
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H2. [Grade: Y or Nj Find the value of ¢ that satisfies the Mean Value Theorem for
Integrals for  fixi=vIx—4 on {2, 41
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Extra Credit:

vou are doing, so we KNnow whgf to grade.
‘_f;\a_\“é 3% '

Grade (A)

(A} Bisection Method
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(10 poinis) Solve this equation using (A) the Bisection rMethod {just fillin table for first five
rows) OR [B] Newton's Method [accurate 1o t@ux decimal piaces). Choose which one

fim

-1

).575
0. 703127

0201 Z;’ﬁﬁ'?

0-1370605

At f

.................

_ Flw)
:S'f(?(/s]

T}{ﬂ

= Jx )

ix, 1



